Reken Werkblad - Omrekenen Lengtematen (9B5)

Naam: Aantal goed:
Aantal fout:

Omrekenen Lengtematen

mm - cm - dm - m - dam - hm - km

1500 cm = m 20m = cm
40 dam = cm 55cm = mm
5dm = mm 1 km = dm
42 hm = m 80 hm = km
2000 dm = m 15cm = mm

135dm = cm 20 hm = m
400 m = dam 44 dm = cm
122 dm = dam 910 cm = m
42 dam = cm 810 dm = m
2 km = cm 15 dam = m




Reken Werkblad - Omrekenen Lengtematen (9B5)

Naam: Aantal goed:
Aantal fout:

Omrekenen Lengtematen

mm - cm - dm - m - dam - hm

1500 cm = 15 m 20 m = 2000
40 dam = 40000 cm 55 cm = 550
5dm = 500 mm 1 km = 10000
42 hm = 4200 m 80 hm= 8
2000 dm = 200 m 15cm = 150
135dm = 1350 cm 20 hm = 2000
400 m = 40 dam 44 dm = 440
122 dm = 1,22 dam 910 cm = 9,1
42 dam = 42.000 cm 810 dm = 81

2 km = 200.000 cm 15 dam = 150
1 dam = 1000 cm 2 km = 2000
4 m= 40 dm 400 dam = 4
1,5m = 1500 mm 150cm = 1,5
42 dm = 4200 mm 80 km = 80.000
2 hm = 2000 dm 5 dam = 5000
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